Multiplicacion por Celosia (I)

Use la multiplicacion por celosia para hallar cada producto.

4 8 1 2 9 3 3 1
8 7
3 0
4812 x 83 = 0331 x 70 =
7 6 0 7 6 1 5 4
7 4
5 7
7607 x 75 = 6154 x 47 =
5 6 6 5 1 0 3 6
8 5
2 4
5665 x 82 = 1036 x 54 =
7 7 1 9 2 1 2 3
9 7
9 1
7719 x99 = 2123 x 71 =
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Multiplicacion por Celosia (I) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

4 8 1 2 9 3 3 1
3 16 /To A1 g 6 /12 /12 /10 /] 4
3L, 21, 4,8 6 o, 3 1 1 7
2 10 710 7 4 0 /10710 710 7
o, 2|/ 4,/ 3/ 6 5,70, 0, 0 0
9 3 9 6 3 1 7 0
4812 x 83 = 399,396 9331 x 70 = 653,170
7 6 0 7 6 1 5 4
4 4 10 4 /) 4 2> To T2 T1 4
51,9, 21,0 9 o, 4,40 6
3 1310 13 /) 5 2 /1013 /12 /] 4
15, 0, o/ 5 8, 21,7 51 8
0 5 2 5 9 2 3 8
7607 x 75 = 570,525 6154 x 47 = 289,238
5 6 6 5 1 0 3 6
a4 4 4 g 0 10 Tt T3 /] s
470, 8, 8, 0 o5, 0, 5, 0
T 1 A1 A1 5 0 10 1 2 7 4
6, 0 2 2 0 sl 4l 0 2 4
4 5 3 0 5 9 4 4
5665 x 82 = 464,530 1036 x 54 = 55,944
7 7 1 9 2 1 2 3
76%6%09819 1140714217
6 16 /1o 3 9 0 10 10 10 /] 4
6, 3 3 9, 1 sl 2, 11 2 3
4 1 8 1 0 7 3 3
7719 x99 =764, 181 2123 x 71 = 150,733
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